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2004 2005 2006
8,000 8,000 28,000

5- IBS

3.8% 3.3% 3.3%

3.8% 3.3% 3.3%

90% 91% 92%

100 200 150
5-

100% 100% 100%




2004

2005

2006

11

200

11

200

11

200

47

50

50




( )
9,729,243 9,671,979 57264[ 96,552 ]
5,668,047 5,706,778 38731[ 14,269 ]
4: 267,677 253,408 14260|[ 14,269 ]
4- 165,503 151,234 14260[[ 14,269 ]
78,202 63,933 14260[[ 14,269 ]
(1250-1253-210-401-01)
( 8.569)
= 8,569
( 3.000)
= 3,000
(1250-1253-210-405-01)
( 1.500)
300,000 * 5 = 1,500
( 1.200)
150,000 * 8 = 1,200
5: 5,400,370 5,453,370 53,000
5- 5,179,606 5,232,606 53,000
3,391,000 3,444,000 53,000
(1250-1254-220-307-05)
= 3,391,000
3,391,000,000 - 3,444,000,000 = 53,000
4,061,196 3,965,201 95995[ 82,283 ]

(1250-1253-110-101-01)




( )
( 321.200)
= 321,200
( 321,200,000)  ( 295,570,000) ( 25.630)
321,200,000 - 295,570,000 = 25,630
( 52.200)
= 52,200
( 52.200,000)  ( 49.262.000) ( 2.938)
52,200,000 - 49,262,000 = 2,938
(1250-1253-110-101-02)
( 49.879)
= 49,879
( 49.879.000)  ( 53.659.000) ( 3.780)
49,879,000 - 53,659,000 = 3,780
( 25.478)
= 25,478
( 8.030)
= 8,030
(1250-1253-110-101-03)
( 33.410)
= 33,410
( 33.410,000)  ( 34.320.000) (  910)
33,410,000 - 34,320,000 = 910
(1250-1253-110-101-04)
( 31.430)
= 31,430
( 31.430.000)  ( 32.280.000) (  850)
31,430,000 - 32,280,000 = 850
(1250-1253-110-101-06)
( 67.250)
= 67,250
( 67.250,000) 61.578.,000) ( 5.672)
67,250,000 - 61,578,000 = 5,672
(1250-1253-110-101-07)
( 20.075)

20,075




(1250-1254-110-101-08)

525,640,000 -

511,928,000

525,640

13,712




